dU% / Q. NH :Aq paysinbuijoy ejdweg mey ¢lo | abeq é . \Q . :Aq paysinbuyjey ajdweg mey

S~ \\\Q :Aq pan1aday sjdweg mey (D g u QW :Aq pantedsaey sjdweg mey

(N7, .L_~ ﬁ &d& wri .ﬁ Q awil] jeyeq 00 A.p A/l ~{’+/ % awi] /o3eq
0S- UYoslwayd  €20z/22/L0 [A%e] L10d3sn 0 Bep ¢ 100D SpIjog Juaoiad pilog 0HD0D LZ-15/€0
0S- Yoauuayd  £202/£2/20 el L0d3sn 0 Bap 1 j00) Spijos Jusdled plos 89909 02-/5/£0
0S- YoalWweyy  €zoz/6L/L0 [A)] Lod3sn 0 Bsp ¢ 1009 spIjoS Ju0Iad pilos 29907 BL-2S/€0
OS- Yosjwayd  €z0z/61/20 [Axe] L0d3sN 3 Bop ¢ (00D spljog Juaoiad plos L9D09 81-/5/€0
0S- Yoalwsyd  £202/L2/L0 rAN ] 10d3sn 2 Bop ¢ |00 SPI0S Juaniad pllos $84000 11-16/€0
0S-Uosjweyd  £z0e/12/L0 [AX0) Lod3asn 0 Bep ¥ 100D SpIjoS Jusoiad pllos as<4000 91-/5/£0
0S- Udsjwayy  ¢20z/1.2/20 Zen L0d3sn : D Bep ¢ Joon SpIIoS Ju9dIad pios 84009 e
0S- Yosyweyd  £z0z/ce/L0 [4) L0d3sn 0 Bep p |00 Spijos Juadied pllog 60000 V1-1S/€0
OS- yoaweyd  €z0¢/2z/20 (430 Lod3asn 0 Bep v 100D SPI|OS Jusoiad pijos 80200 £1-15/€0
OS- UdsiwaYyy  €20z/02/L0 [43] L0d3asn 0 Bep 7 j00) SPI[0S Jusdiad pijos £a009 ZL-15/€0
0S- Yosiweyd  ¢£z0z/£2/20 [£>0] Lod3asn 0 69p ¢ |00) SpIjoS Jusdiad pllos 0a209 LL-2S/0
0S- UosWaysy  £20z/5Z/20 [430) Lodasn 0 Bep ¢ Joo Spllog. Jueniay plos (<o ,3,1\0 Gn.\ boooo 01-26/£0
0S- Yasjwayy  £z0z/£g/L0 ced L0d3asSN 3 Bep ¢ joog SPIOS JusdIad plios (00974 Q Qn\ &OOOO 60-25/€0
0S- Yosuueyo  €z0z/12/L0 [N Lod3sn 0 Bap  [009 spljog Jusaiad plios 89909 80-/6/£0
0S- Yosiuayd  ¢z0z/12/20 [AXe} L0d3sn 0 Bep  j00) Splj0g Juadlad plos €890 10-2S/€0
0S-UdRWBYd  £20¢/12/20 [Axe] Lod3asn 2 Bep ¢ 1009 SpIlos jusdiad plios 29000 90-/6/£0
OS- UosiueYd  £202/52/20 ¢e0 Lod3sn 3 68p ¢ 1007 SPIOS jusdiad pios 66000 G0-2G5/€0
0S- Yo=wBy)  €20e2/e2/L0 [43e) Lod3sn 0 Bep ¢ [00D SpIjoS Jsdlag pllos £6200 Y0-45.€0
0S-udealWayd  £202/£7/.0 Zeo L0d3sSN 0 Bep y 1009 SpljoS Jusdlied pllos 68000 €0-/6/£0
0OS- Uoaywayo  £202/61/20 A% 9) L0d3sn 9 Bap 1009 Spl[og ualey pllos £8009 20-/G/€0
0S- Yosyways  £z0z/61/20 zeo L0d3asn 0 Bep ¥ [00) SpIoS Jusdiay plosg 18900 L0-2S2£0

LUo1ED0T
sbeio}g
ajdweg mey

ajdweg Jawolshy
pPolsiN  ajeq jo9jj0n J9wolsny aAneAIdSalY

s|dweg

9€'¥¥:80 £20¢-92-20

(st G\,

: 9)eqg Ansiwsyo-jepy 1 juawedsg €611 dlistpom LG/€0-1%

: sweN jsilIopm

(ureyd reussyul AdoopieH) 1 SITHHOM



a\@ \ % 2 :Aq paysinbujjey ejdweg mey Z 40 z sbey J\r\.W QVP\\W :Aq paysinbuyjey ejdwes mey
j\&l % :Aq penieasy ejduieg mey - md Qd \ Qr‘ :Aq paaresey ajduteg mey

@a -.\ Nﬂ \ Mrl w,l*.! Q aw) /ayeq : Q0 ,_,.A ﬂ ﬁ Ar1 ) ,QM\D awy ;e3eQ

0S-UoseYyd  £202/2e/L0 430} L0d3sn 3 Bsp { ooy SpPljos jusdled pliog SH209 Z2-1G1€0

uoneson

d]dweg Jawoysny
POYIsly  98je(109]j0o asbeioyg Jawolsngy {1 8AEAIaSAIY

18]  xujep
ojdweg mey

9¢:v:80 €20¢-92-20 : °jeq Ansiweyo-lepy  : Juswedeq €611 alisrpliom

f Wmmu A/ % (urey) [ewssjul AdoopreH) 1 SITIHOM

1G/€0-1% : OWEN IsImyiom



